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101 1244 29,746 0 29,746
YR EENEEES 29,746 0 29,746
OMERIRIISHIY JI 2RI 21| 29,746
ePIEE 66,9602 %2632 17,611
O=g4o 66,9602 x51 3,415
OUtRIRIIEY 66,9602 * 152 1,005
OgL2R4+d 100, 4402 x252 2,511
OAIZteI2R Y 12,5302 151 2H+ 122 2,256
odEEzE 26,798,0002 *11% 2,048
201 et | 1,600 1,400 200
01 At 2 2lt| 1,600 1,400 200
OL-HA U LANIS /NN
1,000,00021* 14! 1,000
OJISHelg = U oHEFY P
200,0002 %301 %1% 600
206 TH 24| 35,000 30,000 5,000
01 M2l 35,000 30,000 5,000
OMEOIR JISH2lE 22l HEH|
35,000,00021* 14! 35,000
SAZT B 2,500 2,500 0
CIRQIgres =&l 2,500 2,500 0
CIRtQIgrer =7 2te 2,500 2,500 0
201 YEre | 1,000 1,000 0
01 At 2 2lt| 1,000 1,000 0
OZ2CIXY =22 L2+ 1,000,002 13| 1,000
202 014 1,500 1,500 0
NETLETI 1,500 1,500 0
CEEISpEIR=EESS 150, 0002 %201 53] 1,500
BH2H AU (IREAID) 308,735 282,021 26,714
olzi 22| (Z M SAIDH 254,851 204,841 30,010
oI 2 A (FRISAID) 254,851 204,841 30,010
101 @124 254,851 204,841 30,010




2A: ZHZAD
M HH2AGHI(ZMZAILL)
o oA A (E M AL
SA - CR(B) - NRAY - BAS 0l At N
01 2= 91,228 87,999
oxzu=2H 10,0032 = 1921 %480 A1 2t 91,228
03 RINIHAZZAE 163,623 136,842
O=2IMHZ2LIHZA 65,690
oJles 30,886
-2II2LIHRA 1 1,286,910& 122 15,443
-2II2LIHRA 2 1,286,910& 12 15,443
(ORI 10,296
=SII2LIHE& 1 1,286, 9102 *400% 5,148
-2II2LIHREA 2 1,286,910& *400% 5,148
OAZtel=5 5,576
-SNHE2LIEHKS 1 10,3243 *180A12tx150% 2,788
—SI2LIHRA 2 10,3243 *180Al 2tx150% 2,788
OZFEFOH| 2,574
-2II2LIHRA 1 1,286,910 12! 1,287
-2II2LIHRA 2 1,286,910 12! 1,287
OF A Z A 100,000 221 %123 2,400
(O 140,000 221 %123 3,360
[OF =B, 110,000 2021123 2,640
OFIFE = 60,0002 x22!x12& 1,440
(OETSES= 100,000& 2021+ 123 2,400
ONEY 40,0003 *121x123 480
OdIt2 4| 3,140
-2II2LIHRA 1 82,588% x19 1,570
-2II2LIHREA 2 82,588% x19 1,570
OMNEEZ 498
=SII2LIHE& 1 31,266,000 *0.8% 251
-2II2LIHREA 2 30,786,000& *0.8% 247
OF L&A 32,118
OoJlz= 1,225,050 122 14,701
(ORI 14,701,000& *1/3 4,901
OAIZE2I =& 9,936 *180 Al 2+ 150% 2,683
OFEEFOH| 1,225,050 12! 1,226
OFHZAlH| 100,000 123 1,200
OxRsd 140,000& 123 1,680
(O, 110,000& 123 1,320
Oola=g 60,0002 =122 720
OxX&¥2Y 100,000 123 1,200
ON&E2Y 80,000& x12& 960
Ot 4| 79,4863 x16Y 1,272
OMTHEERYEZ 31,863,000& +0.8% 255
OMENRAI|SKH 2|8t 65,815




2A: ZHZAD
R BH2SAY (FMEAID)
o oA A (E M AL (el &3
SN B G(EN) - NRAY - B 0l At N HDE2
oJles 30,792
218 1,358,830 128 16,306
435 = 1,207,100 =128 14,486
Q&3 10,265
215 = 1,358,830 *400% 5,436
453 1,207, 1002 *400% 4,829
OAZtel=g 5,562
218 10,7743 x180 Al 2t % 150% 2,909
453 9,823 *180 Al 2+*150% 2,653
OZESIH| 2,567
208 = 1,358,830& 12! 1,359
45 1,207, 100& 12! 1,208
OF A Z A 100,000 »221 %123 2,400
(O = 140,000 221 %123 3,360
(OF === 110,000 221 %123 2,640
OXIFE = 60,0002 x22!x12& 1,440
(OFETSES= 100,000& 2021+ 123 2,400
ONEY 40,0003 *121x 123 480
OdItE 4| 3,413
218 86, 195% x25 2,155
45 78,586 x16Y 1,258
OMTEERYES 496
2183 32,610,000& x0.0080 261
453 29,296, 0002 x0.0080 235
JI2ZH (FM=AID) 53,884 57,180 13,29
Jl2Z (M= Al 53,884 57,180 A3,296
201 Ler2E| 29,884 30,480 2596
01 AHR 22l bl 29,884 30,480 2596
O et+=ZH| 18,100, 0003 * 14 18,100
O=EHl 6,384,000 14 6,384
oY= 5,400,000 * 14 5,400
202 4l 19,800 22,500 22,700
01 =L YI 19,800 22,500 A2,700
OYR=& JI=20| 19,800, 000& * 14! 19,800
203 =&l 4,200 4,200 0
04 RN2SLRF=AH 4,200 4,200 0
OFRA2IHRFAH| 350,000 123 4,200




